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The Remainder Theorem Date Period

Evaluate each function at the given value.

1) f(x)=—x3+6x—7 atx=2 2) f(x):x3+x2—5x—6 atx =72
3) fla)=a’+3a*>+2a+8 ata=-3 4) f@=a®+5a*+10a+12 ata=-2
5) fa)=a*+3a®-17a* +2a—7 ata=3 6) f(x)=x"—47x> —16x* +8x+52 atx=7

State if the given binomial is a factor of the given polynomial.

N = = =05 {E=73) , 8) (b*—8b3 —b*+62b—34)=(b-7)
9) (n* +9n° + 14n* + 500+ 9) = (n + 8) 10) (p*+6p° +11p? +29p =13} = (p+5)
1D (p* —8p® + 10p® +2p+4) 2 (p=2) 12) (n® —250° —=7n* - 37n—18) + (n +5)

13) (&7 +6x* = 33*= 20 ~29) = (%+.6) 14) (n*+10n° + 210> +6n—8) + (n +2)



Divide.

15) (p*+5p° —11p* -25p+29) = (p +6)

17) (% + 11x% + 3362 + 245+ 32) = (x + 6)

19) (6b* +53b° + 3262 - 61H+19) = (b + 8)

21) (6a® +20a* —15a+9) + (a + 4)

23) (P +8p* +2p* +19p+16) = (p +8)

25) (P +6r* —13r° —=5r2 - 8r+ 14)+ (r—2)

16) (8k® — 66k> + 14k + 8) + (k—8)

18) (6v° +42v* — 50v —20) + (v + 8)

20) (4n® —=9n*+9n+3)+(n—1)

22) (n* —6n> —10n* +20n +15) = (n+2)

24y (= 2%> = 16%% + 28x+'9) = (x —4)

26) (8v° +32v* +5v+20) = (v+4)



